
AP Calculus        
1.5 ws1 key 
 
Use the following graph for questions #1-12. 
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10.  Explain why y = 1 is a horizontal asymptote to( )g x . 

 As x approaches infinity, the y values will approach one. 
 
11.  Explain why x = -2 is a vertical asymptote to ( )g x . 

 As x approaches -2, from either side, the function approaches negative infinity. 
 
12.  Is there a vertical asymptote at x = 2?  Yes 
 
 
 
13.  Sketch the graph of  f  that satisfies all of the given conditions. 
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14.  Find the following for ( )g x . 
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Find each limit using a calculator. 
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32.   $176 million, $528 million, and $1584 million.  The limit as x approaches 100 from the left is 
 infinity.  Which, in this problem, means it’s basically impossible to seize all of the drugs. 
 
   


